Transitions worksheet

Directions: rewrite the sentences using the transitions in brackets.

1. She didn’t give any chocolates to her friends. She ate them all herself. (instead of)



Possible Answers

1. She ate all the chocolates herself instead of sharing them with her friends. (instead of)

2. She was sick and didn’t study for a month. However, she got a good mark in the test.
(however)

3. People couldn’t reach the mountain by road because of the snow. (because of)

4.1 won’t be able to see clearly unless I put my glasses on. (unless)

5. Although he injured his leg, he played until the end of the match. (although)

6. She was too late to meet her father at the airport. Consequently, she waited for him at home.
(consequently)

7. The dessert was so delicious that we asked for some more. (so ...that)

8. In spite of the bad road conditions, there were no accidents. (in spite of)

9. 1 can’t afford a holiday this year as I've saved very little money. (as)

10.  When she packed her clothes for the trip, she realized that she needed some new ones.
(when)

11.  While she was watching/she watched a film on television, she finished her essay. (while )
12.  He stood on the chair. As a result, he could reach the top shelf of the bookcase. (as a result)
13.  He was seriously ill. Moreover, he refused to see a doctor. (moreover)

14. Despite being tied up, the thief escaped. (despite)

15. He bought six bars of chocolate in order that each child could have one. (in order that)



